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SUBJECT:ENGLISH LANGUAGE

Q1.Complete the sentences with the correct form of the verbs in brackets.

1.She ... (feel) better after she .............. (take) her medicine last night.
P2 (think) that Brad .............. (travel) to Italy now.

3. l...cceeeeee..(not hear) the phone last night because I ............... (Sleep).

4. Yesterday | ..o (run into) Jim. I ..o (NOL sS€€) him in years.

5. They ..........(not know) what they ... (want) to study this year.

Q2.Complete the passage with the correct form of the verbs in brackets.

Stunt people '............. (perform) dangerous actions in films. They frequently 2.
. (€NANgeEr) themselves in order to bring spectacular scenes to the screen.
However, a lot is done to protect them. An early example was in a 1928 film when



Buster Keaton 3. ......... (perform) one of the most famous early stunts. The
front of a house *............. (fall) on him, but Keaton 5-_.....(escape) injury. Set
designers carefully ®_._______ (measure) the dimensions of the house so that it
crashed down around Keaton, and not on him.

These days, technology * . ... (make) stunts much safer. Digital special
effects are used to make high-speed car chases and fiery explosions * _________
(look) dangerous without putting the stunt person in harm's way. However, not
all stunt people appreciate the new, high-tech tools. (take) the thrill out
of the stunt. | *.............. (prefer) to do stunts without any special effects."

Q3. Complete the dialogues with the correct form of the verbs in brackets

A Y s Y (S€E) SUE [@tElY?

B: She > (go) on holiday to Turkey last week.
A: Really? Sue 3,........... (not be) on holiday for ages.
T R (hear) from her last week. She 5. (have) a wonderful time!
G........(try) to phone you yesterday, but no one answered. What .....you
e(dO) at about 6 0'clock? B: 1 % ... (lift) weights. 9.

A: Really? When you .. ... (take up) weightlifting? B: Not long

go. | S (traln) for a competition th ese days.

Q4.Complete the passage with the correct form of the verbs in brackets.

Although | ~............. (know) for years that exercise is important, | *o.cceee (NOL
have) time to go to a gym every day. Then a friend told me about a great new
computer game, Wii Fit, that 3. (heIp) people get fit at homel He told me that

after he'._______ (try) this game, he:* ... (stop) going to his gym! The next
day, | & (buy) Wii Fit. There are about 40 activities and the game's special
graphics *............. (help) you to do the exercises correctly. Wii Fit®e ...
(combine) fitness with fun, so when | *............ (read) that Wii Fitt0® ...

(sell) at a current rate of 90 copies per minute, | wasn't surprised.



Q5.Complete the passage with the correct form of the verbs in brackets
When we(move) to our new house by the sea, | was eight years old. Even before

that,(spend) every summer on a boat. My dad *................ (teach) me to sail before |

(learn) to ride a bike sO | * ... (know) how | wanted to spend my time at our
new house | (plan) to get my own boat and sail it every day, which is exactly what |
did. Now, when | 7 (look back) on my childhood, | realise how lucky | was to grow
up by the sea. | still (love) sailing Complete the passage with the correct form of
the verbs in brackets Sardinia holds the world record for the highest percentage of
people who 1, ... (live) to be over 100. Most of the locals 2. (believe) that
the reason lies in the place itself—the air and the food. But now, scientists
V... (investigate) anot her hypothesis. For centuries, the islanders®...............
(not intermarry) with outsidersg so it is likely that Sardinians have got similar
genes. Therefore, it's logical to assume that they 5. ... (share) a gene for
longevity. Recently, a research team 6 ... (succeed) in analysing the proteins
found in the Y chromosome. They ... -(not find) the key gene yet, but the
research coordinator has predicted that the team ... (come up) with the answer.
As he's a Sardinian, it's likely that he 9. ... . (reach) the age of 100. Maybe, he

L (diSCOVEY) the longevity gene by then.

Q6.Complete the sentences with the correct form of the verbs in brackets.
1.The storm ............. (appear) to be over now.

2.1 think we should cancel the game. It looks like it .........cc... (SNOW).
3.Don't phone Ann. She..........cw.... (d0) her homework.

4.The room looked fantastic after they ............... (paint) it.
5.The grassiswet. It ... . (must / rain).
6.1'm taking the dog to the vet. It ................ (not eat) anything for days.

Q7. Complete the passage with the correct form of the verbs in brackets

J ane Spa derl. ... (not notice) the dark sky as yesterday's storm was
approaching. She 2. .............. (not hear) the thunder or see the lightning. She was



too busy talking on her mobile phone as she was walking to her car. The next

3.

thing Jane remembered was that she oo (lie) on the ground and her

12eyear-old brother Tom was shaking her and calling her name. The lightning 4.

e Strike) Jane. Luckily for her, Tom -............... (See) what had happened and
immediately called an ambulance. Incredibly, Jane survived. A doctor at the
hospital said, "Jane was very lucky. The lightning 6. ... - (could / kill) her."
Metal objects ........... (attract) lightning. So when you're outdoors in a
thunderstorm, even holding a mobile phone can be dangerous. I'm sure Jane

S. (not make) that mistake again.

Q8. Complete the passage with the correct form of the verbs in brackets. (Active
or passive)

In 1913, Arthur Wynne 1. ... (create) the first crossword puzzle. It 2.
AT _ (must be) a success since the word game soon spread across the USA.
At newspapers 3.(carry) them as a weekly feature, but after Simon and Schuster
(publish) them in book form, they °............. (grow) in popularity. People 6. (can
/ not get) enough of them. Puzzles began to appear everywhere. Railway
companies (print) them on the back of menus in dining cars. Diners would solve
the puzzles while they (wait) for their meal. Since 1997, computers 9. ...
(help) to advance the development of crossword puzzles. With special software,
people 10, (be able to) construct their own puzzles. Today, people (consider)
the crossword to be the most popular word puzzle. Over 40 million people in
the USA (solve) a crossword daily. If you *............... (open) any newspaper, you
14, . (probably find) a crossword. It *......_.... (seem) that crossword
puzzles are here to stay!

SUBJECT: PHYSICS

Do all exercise work from chapter 1 to 3 (till taught ) and solve all numericals . This
work has to be completed in physics notebook.



SUBJECT: CHEMISTRY(TWO WORKSHEETYS)
WORKSHEET-1

Q.1Give the name of the elements represented by the following symbols:-

a) Bi b) Sn c) Sb d) Al e) Si

Q.2 Anwer the following question:-

1.Give the difference between Cl & Cl,

2.Name the symbol of one liquid metal and non-metal.

3.Give the symbol of two elements which have equal number of valence electrons.
4.Why Na & K show (+1) valency & Cl show (-1) valency.

5.Give name and valency of two metallic elements.

6.Give two differences between acidic and basic radical.

7.Define basic radical. Give two examples.

Q.3 Give the molecular formula of the following molecules:-

(a) Lead sulphide (b) Iron(ll) sulphide(c) Sodium hydrogen sulphite (d) Hydrogen
sulphide

Q.4 Write the formula of sulphate of the following elements-
Sodium, Potassium, Calcium, Magnesium, Aluminium

Q.5 Urea( NH,CONH,) is an important fertilizer which contains 46% Nitrogen. If
cultivator used 150kg urea for his crop field then what amount of N supplied to
crop field.



Q.6 Balance the following equations:-

1.N,Os5 + HO --------- > HNO3

2.P,05 + 3H,0 --------- > H3POy4

3.Ca(NO3); ----------- > Ca0 +NO,+ 0,
4.Fe(OH), + HCI ----------- > FeCl, + H,0
5.NH,CI + Ca(OH); ---------- > CaCl, + H,0+ NH;3

WORKSHEET-2

Q.1Answer the following questions :-

1.Explain endothermic after a chemical change with an example.

2.Substance obtained after chemical change shows different chemical properties

with respect to the original substance . Why?

3.What is the difference between respiration & burning?

4.Why weight is increased during the combustion of any substance?

5.How can the fire be extinguished?

6.Discuss the different condition for a chemical change?

Q.2 Define the following:-
a) Direct combination reaction
b) Photochemical reaction
c) Decomposition reaction

d) Respiratrion



e) Combustible substance

Q.3 Classify the following reactions into the type of chemical change:-

a) 2H,0 + 0 ---------- > 2H,0

b) 2KCIO;3 -------------- > 2KCl + 30,

c) BaCl, + H,SO4 -------------- > 2HCI + BaSO,
d) CH4 + Cly - m-- > CH;Cl + HCl

e) Zn + CuSO, -------------- >ZnS0O4 + Cu

Q.4 What is the main cause behind energy change during any chemical change?

Q.5 What is a catalyst ? Why do we need it?

Q.6 How do the following factors help in bringing out a chemical change -

a) Pressure
b) Light
c) Heat

d) Electricity

SUBJECT: BIOLOGY

Do the exercises of chapters 1,2,3 & 4 in your fair notebook.



SUBJECT: MATHS(TWO WORKSHEETYS)

WORKSHEET-1

1.1f a+- ¢ find:
) — i) —

2.ifa-- o;finda®+3a-— -
3.iffa+b=4 andab=3:find— —

4if@ — ¥, find the value of :

i) X - - i) x +- i) 3x2 - —
5.if a> + — = 27 : find the value 3a3- —+ 5a - -

6.ifa+b=7 andab =6, find a®>— b’
7.ifa’+b’=13andab =6, find :

)a+Db i)a—Db

iii) a° — b iv) 3(a+b)” — 2 (a — b)?

8.ifa’—3a—1=0, find the volume of a® + —

9.1f x =—, find:

i) x - - i) X + - iNg  —

iv) X% + —



10. if x —y = 7 and x> —y® = 133; find :
i) Xy i) X*+y°

11.if — —, show that:4x? + 9y* + 162° = (2x — 3y + 42) (2x + 3y + 42)

12. The sum of two number is 7 and the sum of their cubes is 133, find the
sum of their squares.

13.if x —y + z =5 and x* + y* +z° = 49 , find the value of ; zx — yz - Xy.
14.ifx>0and X+ — — WEE DA —

CHAPTER-SIMULTANEOUS LINEAR EQUATIONS
1. Solve:
1)3x—-5y+1=0
2X—y+3=0
) 3x+2y=14
-X+4y =7
i) 2x + 7y = 11
5X + —U= 25
Iv) 8x + 13y —29=0
12x -7y —-17=0
V) 12x + 15y + 18 =0
18x — 7y + 86 =0
Vi) 3(2x +y) = 7xy
3(x + 3y)= 11xy; x#0,y # 0

2.Solve:- — - AT A - 11 Hence, find ‘m’for which y = mx — 4

3.Solve:4x+ p AT @@ - p T Hence find the value of ‘K’, if
y=KkXx-2



4. Solve:
1) 3 (2uU + Vv)=Tuv
3(u+3v) = 11lpv

i)— — cATA — p

1) 217x-131y=913
131x+ 217y= 827

5. Solve the given equation by using cross multiplication method:
1) ax+by=c
bx+ay=1+c

i) 3x-4y=10
5x-3y =24

iii)- - m and — — A A

6. The value of expression mx-ny is 3 when x=5 and y=6 and its value is
8 where x=6 and y =5 find the value of m and n.

WORKSHEET-2

CHAPTER- COMPOUNDINTEREST

QUES-1. A man borrowed Rs3000 at 8% pa at compound interest. At the
end of a year he repaid Rs1200,partly as interest for the first year
and partly to reduce the debt. At the end of the second year Rs1300.
Find the sum he should at the end of the third year to meet the
interest and to clear off the debt.

QUES-2.Ram singh bought a refrigerator for Rs4000 on credit. The rate
of interest for the first year is 5% and for the second year is 15%.
How much will it cost him,if he pays the amount after 2 years?



QUES-3. Ram deposited Rs7500 in a bank which pays him 12% interest
per annum compounded quarterly. What is the amount which he receives
after 9 months?

QUES-4. The difference between the compound interest and the simple
interest on a certain sum at 10% pa for 3 years is Rs93. find the sum.

QUES-5. A man invests Rs 46875 at 4% p.a compound interest for 3 yrs.
Calculate: 1)the interest for the first year ii)the amount standing to his
credit at the end of the 2nd year iii)the interest for the 3rd year.

QUES-6. Find the compound interest on Rs12,500 at 12% pa for one year
if,

1) Interest is compounded annually.

i) Interest is compounded semiannually.

1) Interest is compounded quarterly.

QUES-7. Nikhil invested Rs6000 in a company at C.I compounded semi

annually. He receives Rs7986 after 18 months from the company. Find
the rate % pa.

QUES-8. A sum amounts to Rs9680 in 2 yrs and to Rs10648 in 3 yrs
compounded annually. Find the sum and the rate of interest pa.

QUES-9.In what time will Rs64000 amount to Rs68921 at
5%pa,interest being compounded half- yearly? QUES-10.calculate
the C.I on Rs10000 for 2 yrs 9 months at 10%pa compounded
annually.

QUES-10. A man borrows Rs 5000 at12% compound interest payable
every six months. He repays Rs1800 at the end of every six months.
Calculate the third payment he has to make at the end of 18 months in
order to clear the entire loan.



QUES-11.The compounded interest on a sum of money for 2 yrs is
Rs1050 and the simple interest on the same sum for 3 yrs at the same
rate is Rs1500.find (i)rate (if)sum

QUES-12. Calculate the compound interest due in 2years 6 months on Rs
6000 at 10% compounded annually.

QUES-13. A person invests Rs10,000 for 2 yrs at a certain rate of
interest compounded annually. At the end of one year this sum amounts
to Rs11,200.calculate-(i) the rate of interest per annum (ii) the amount at
the end of the second year.

SUBJECT: HISTORY & CIVICS

Topics
1. Great bath
2. Sanchi Stupa
3. Qutub Minar
4. Fateh Pur Sikri (monument)
5. Red Fort
6. Jama Masjid
7. Brigadeshwar temple

Note:

*Paste pictures of above monument

*Write details of it .

*Use file and file sheet. *Don't exceed more than 10 to 15 pages.
SUBJECT: GEOGRAPHY

1.  Define:
a) Tide
b) Lapse rate
c) Insolation



d) Ozone
Give reason for the following statements:
a) Afforestation is the best method of global warming reduction.
b) Temperate zone experiences moderate climate.
c) Aircrafts fly in stratosphere.
d) Carbon dioxide plays an important role in atmosphere.
e) We must reduce pollution.
f) Pune receives very less rainfall than Mumbai.
g) Shimla enjoys cool climate.
Name the following:
a) Stratified rock.
b) Greenhouse gas.
¢) Young fold mountain
d) Intermontane plateau
e) Depositional plain
f) Active volcano
Answer the following questions:
a) What are the features of ionosphere?
b) Mention two causes of Earthquake.
c) Explain briefly the formation of Himalayas.
d) Explain orographic rainfall with diagram.
e) Draw the following diagrams:
1) Fold mountain
i) Structure of Atmosphere
iii) Cyclonic rainfall
e) Complete the following table:

Ocean Pacific Effects Atlantic Effects
currents ocean ocean

Warm

Cold

Differentiate between the following terms:
a) Fold and block mountains.
b) Troposphere and stratosphere.
c) Terrestrial radiation and insolation.
d) Cyclonic and convectional rainfall.



6. You have to prepare a file and cover it with brown sheet with your
name class and section.
Topic- Pollution; its types, sources and effects.
How as a student of Geography you can reduce pollution.

SUBJECT: COMPUTER APPLICATIONS

Make a Presentation on Principles of Object Oriented Programming using
either PowerPoint Or Google Slide

Note : You can also use sound effects.

SUBJECT:ECONOMICS

Make two projects on the given topics :-
1) Comparison of three substitute products
2) Brief explanation about some complementary goods

SUBJECT:PED

Prepare basketball and cricket file with proper cover and pictures
according to the sequence which is written below.

1.0rigin and history

2. Knowledge of game

3. Rules and regulation

4, Measurements of play field

5. Specifications of sports equipment

6. Various duties ( Coach, Umpire, Captain)

7. Terminology



